Dowd, Patrick J - DNR

From:

Jason Powell < jasonp@metcohg.com>

Sent:

Thursday, April 27, 2017 9:13 AM

To:

Dowd, Patrick J - DNR

Subject:

Re: Maron Property - soil excavation project - Beaver Dam, WI (03-14-563925)

(53916-9214-68)

Attachments:

2413_001.pdf; jasonp.vcf

Attached are the scale tickets from the landfill. Thanks,

On 4/27/2017 8:08 AM, Jason Powell wrote:

Patrick, the excavation/disposal project was completed on 4/25/17. Ron from our office had left you message that we were likely going to go over on the tonnage as we were able to remove highly contaminated soils directly beneath the former UST located in the center of the excavation area. I have received the tonnage report from the landfill and we ended up with a total of 101.44 tons which was 11.44 tons over the proposed amount.

We are requesting a change order for the additional tonnage as follows:

11.44 tons x \$20/ton	=\$228.80
11.44 tons x \$14/ton	= \$160.16
11.44 tons x \$34/ton	= \$388.96
11.44 tons x \$14/ton	= \$160.16
11.44 tons x \$9/ton	=\$102.96
11.44 tons x \$4.94/ton	<u>=\$ 56.51</u>
	11.44 tons x \$14/ton 11.44 tons x \$34/ton 11.44 tons x \$14/ton 11.44 tons x \$9/ton

Total = \$1,097.55

If you could please review and approve these additional costs we can proceed with submitting the PECFA reimbursement.

If you have any questions please call or email. Thanks,

Jason Powell

METCO - Staff Scientist jasonp@metcohq.com / 608.781.8879 709 Gillette Street - Suite 3, La Crosse WI 54603 www.metcohq.com

CORRESPONDENCE/MEMORANDUM -

DATE:

April 24, 2017

FILE REF: 03-14-563925

TO:

Patrick Dowd, Wisconsin DNR

FROM:

Ron Anderson, METCO

SUBJECT: Phone Log

I received a voicemail from Ron Anderson while he was conducting the excavation at the Maron Property. He stated that METCO may exceed the estimated tonnage of excavated contaminated soil that was approved in their latest PECFA cost approval request, and requested a change order to that affect. I would have agreed had I been in the office that day.



์ N7296 HไGHV	/AY V	١.		1						
HORICON, WI 53032 9203870987		荆		SITE	CELL	TI	CKET #		OPERAT	OR
9203070907				E6		87	23568		DSSellno	ow
					TRUCK		CON	TAINER	LICE	NSE
000493 DKS CONSTRI					DKS 44					·-
2520 WILSON MENOMONIE,		INVOICE				REFERE	NCE		IN	OUT
			INBOUND	MARO	N PROPER	RTY		·····	4/25/17 6:41 am	4/25/17 6:56 am
CONTRACT; BOL:	GRL 170338 L53008		GROSS TARE NET	30	3,160.00L 1,000.00L 3,160.00 L	BS Scale				
QTY	UNIT	DESCRIPTION	ORIG		%	RA'	TE	TAX	ТС	TAL
	_	C-Soil/33D@, Pet-Fuel Oil ed Disposal Glacier Ridge Landfill! es not contain any unauthorized hazardous waste.			0.00			Totał Paid Chan Checl Recpl	ge k#	
IGNATURI	::									
17296 HIGHW	Y Y	ት <i>7</i>			· ,.				CUSTOME	
17296 HIGHW. IORICON, WI	Y Y	芬 乙		SITE	CELL		CKET#			rittissa en
17296 HIGHW. IORICON, WI	Y Y	J; Z		E6			3610		CUSTOME	rittissa en
17296 HIGHW. IORICON, WI 203870987	Y Y	\$ Z		E6 T	RUCK		3610	AINER	OPERATO	R
i7296 HIGHW. IORICON, WI 203870987 00493 KS CONSTRU	AY V 53032 CITION	\$Z		E6 T	RUCK DKS 44	82	23610 CONT.		OPERATO 63418 LICER	R NSE
17296 HIGHW. HORICON, WI 1203870987 100493 DKS CONSTRU 1520 WILSON	AY V 53032 CITION STREET	11	NVOICE NBOUND	E6 T	RUCK DKS 44	82 REFEREN	23610 CONT.		OPERATO 63418	NSE OUT 4/25/17
17296 HIGHW. HORICON, WI 1203870987 100493 DKS CONSTRU 1520 WILSON 1 1ENOMONIE, V	AY V 53032 CTION STREET WI 54751	11		E6 T C C MARON 72, 29,	RUCK DKS 44	REFEREN TY 3S Scale 3S Scale	CONT.		OPERATO 63418 LICET IN 4/25/17	NSE OUT 4/25/17
GLACIER RIDG V7296 HIGHW. HORICON, WI 9203870987 000493 0XS CONSTRU 1520 WILSON MENOMONIE, V CONTRACT: G BOL: 1	AY V 53032 CTION STREET WI 54751	11	NBOUND GROSS	E6 T C C MARON 72, 29, 42,	RUCK PROPER 420.00LE	REFEREN TY 3S Scale 3S Scale	CONT.		OPERATO 63418 LICET IN 4/25/17	NSE OUT 4/25/17 9:15 am

Thank you for using Advanced Disposal Glacier Ridge Landfill!

I hereby certify that this load does not contain any unauthorized hazardous waste.

Total

Paid

Change

Check#

Recpt #

SIGNATURE:

CUSTOMER COPY

N7296 HIGHW/ HORICON, WI 9203870987			*7			SITE	CELL	ПСКЕТ	#	OPERA ⁻	TOR
			3.4 .			E6		8236	54	6341	.8
008403							RUCK		CONTAINER	LIC	ENSE
000493 DKS CONSTRU							OKS 44				
2520 WILSON S MENOMONIE, V				INVO	ICE			REFERENCE		IN	
·				INBO		MARON	!			4/25/17 10:57 am	11
CONTRACT: G			E- 100 E-	-	GROSS TARE NET	29	•	BS Manual I BS Scale Ou BS			
QTY	UNIT	DESCRIPTION			ORIGI	N	%	RATE	TAX	Т	OTAL
21.05	TN	C-Soil/33D@, Pet-Fuel Oil					0.00				

Thank you for using Advanced Disposal Glacier Ridge Landfill!

I hereby certify that this load does not contain any unauthorized hazardous waste.

Total

Paid

Change Check#

Recpt #

SIGNATURE:__

CUSTOMER COPY

OUT 4/25/17 11:06 am

, GLACIER RIDGE LANDFILL N7296 HIGHWAY V HORICON, WI 53032 9203870987

000493 DKS CONSTRUCTION 2520 WILSON STREET MENOMONIE, WI 54751

INVOICE **INBOUND**

		,						
SITE	CELL	Т	TICKET #		OPERATOR			
E6		1	823686		63418			
TRUCK			CONTAINER		LICENSE			
[OKS 44							
		REFERE	ENCE		IN	OUT		
MARON	l				4/25/17 12:41 pm	4/25/17 12:50 pm		

DNTRACT; GRL 17033B BOL: 153005		GROSS TARE NET	67,600.00LB 29,820.00LB 37,780.00 LE	3S Scale In 3S Scale Out 3S		
QTY UNIT	DESCRIPTION	ORIGIN	%	RATE	TAX	TOTAL
18.89 TN	C-Soil/33D@, Pet-Fuel Oil		0.00			

Thank you for using Advanced Disposal Glacier Ridge Landfill!

I hereby certify that this load does not contain any unauthorized hazardous waste.

Total

Paid

Change

Check#

Recpt #

SIGNATURE:

CUSTOMER COPY

N7296 HIGHWAY	٧
HORICON, WI 530	32
9203870987	

¥5

000493 DKS CONSTRUCTION 2520 WILSON STREET MENOMONIE, WI 54751

SITE	CELL	7	TCKET #)R			
E6			823717		63418			
-	ruck		CONTAINE	R	LICE	VSE		
I	OKS 44							
		REFER	ENCE		IN	OUT		
MARON	1			-	4/25/17 2:37 pm	4/25/17 2:47 pm		

INVOICE INBOUND

GROSS TARE NET				
ORIGIN	%	RATE .	TAX	TOTAL
	0.00			
-	TARE NET	TARE 29,760.001 NET 37,380.00 ORIGIN %	TARE 29,760.00LBS Scale Out NET 37,380.00 LBS ORIGIN % RATE	TARE 29,760.00LBS Scale Out NET 37,380.00 LBS ORIGIN % RATE TAX

Thank you for using Advanced Disposal Glacier Ridge Landfill!

I hereby certify that this load does not contain any unauthorized hazardous waste.

Total Paid Change

Check#

Recpt #

SIGNATURE:

CUSTOMER COPY

21.58

21.23

21.05

18.89

18.69

101.44 total tous